

Address: The Retreat Hotel & Convention Centre Erangal Beach, Madh Marve Road, Madh, Malad (West) Mumbai - 400061. Tel: +91-22-28813500 / 61318585 Fax: +91-22-28811919 E-mail: <u>reservations@retreat-mumbai.com</u> web Site:<u>www.retreat-</u> <u>mumbai.com</u>



Location: Situated at Erangal Beach, Madh Marve Road, Madh, Malad west in Mumbai which is just 1 and 1/2 hour drive from Mumbai city

Distances:	Visitors Information:	Places of Interest
Mumbai Airport (Domestic) at a distance of 26	Language : English, Hindi &	Essel World (Amusement
kms.	Marathi	Park)
Mumbai Airport (International) at a distance of		Water Kingdom(water
28 kms.	Currency : Indian Rupee (INR)	park)
Railway Station (Malad West) at 13 kms.	Climate : Tropical monsoon	Erangal Beach
Railway Station (Dadar East) at 33 kms.	Temp : Summer - 23-38°C	Madh Island Beach
	Winter - 16-30°C	
Railway Station (Mumbai Central) at 42 kms.	Located : Coastal Area	Pagoda Meditation Centre
Railway Station (Mumbai CST/VT) at 52 kms		Infiniti Shopping Mall
		Sanjay Gandhi National
		Park
		Aksa Beach

Guest Room Information:	Guest Room Amenities:	Guest Services & Facilities
Number of guest rooms: 145	 Bathrooms with Bathtub. 	 24 hrs Concierge Service/Room Service.
Check In : 11:00am Check Out : 10:00am	 Air Conditioning. 	 Laundry Service.
Presidential Suites : 2	 Multi-Channal satellite room television with L.C.D. T.V. 	 Airport Transport Service (on Request).
Deluxe Suite : 2	 Direct Dial Phone 	Manager on Duty - 24 hrs
Superior Suite : 4	 Spacious Work Desk. 	 Foreign currency accepted against room bill settlement
Executive Rooms : 9	 High Speed Wireless Internet Facility. (Wi-Fi) 	✤ Travel Desk
Standard Rooms : 128	 Electricity 220 volts/50 cycles. 	 Doctor on call.
	 Hair Dryer. 	 Free Car parking facilities.
	 Sprinklers & Smoke Detectors 	 "Silver Surf" - Book Shop & Handicraft store.
	 Complimentary toiletries. 	 Entire Hotel covered under C.C.T.V. Surveillance
	 Electronic Safe. 	

Tea/Coffee making facility.

✤ Frost Free Fridge.

Restaurants					
v	Tangerine Café 24Hrs Coffee Shop Services with Indian, Continental & Italian Cuisines.				
v	Oriental Bowl Specialty Chinese Restaurant.				
v	Maters Eage Barbeque a Shaeks Restaurand				
v	Lagoon – Pizzas & Snacks Restaurant				

Business Facilities:

 The hotel is equipped with High Speed Internet Wi-fi Facility allowing one to surf the internet on one's laptop from any part of the hotel. In addition there is a Business Centre, which has the State-of-the-art telecommunication, Video Conferencing, internet and on-call secretarial services.

Reci	reational Facilities
v	Houses Mumbai's largest outdoor swimming pool (8000 sq.ft.) with a water cascade
v	Baby Pool
v	Open-air Jacuzzi
v	Health Club with Steam, & Massage facilities
v	The Retreat club has the state of the art gymnasium having fitness equipments, tread-mills
	cycles, and steppers.
v	Provision for beach volley ball, table tennis, billiards & snooker table, air hockey, bicycle, toddlers
	playing area.
v v	Yoga & Aerobics.(on request)

v Dance Floor

Conferencing Venues (Indoor)

Dimensio			Conference Seating			Banquet		
Venue	<u>n</u>	Area	St	Style			Style	
					U			
		(Sq.Ft.	Theatr	Classroo		Fishbo	Receptio	Banque
	(Ft.)	<u>)</u>	е	m	Shape		<u>n</u>	t
Wharfside 1	29*29	840	50	27	21	27	137	50
Wharfside 2	29*29	840	50	27	21	27	137	50
Wharfside 1&2	58*29	1680	190	81	60	75	275	100
Assembly	56*27	1510	180	72	55	59	250	95
Summit	39*27	1050	120	45	35		200	66
Forum	34*24	825	60	24	24		100	42
Senator	38*19	700	56	24	24			
Fraternity	28*21	590	40	18	18		40	24
Tete-A-Tete I	29*14	400	30	12	12		25	20
Tete-A-Tete II	29*14	400	30	12	12		25	20
Study	17*13	220			12			
Regency Hall 1	63*42	2680	250	75	65	75	300	200
Regency Hall 2	63*42	2680	250	75	65	75	300	200
Regency Hall 3 Regency Hall 1,2 &	63*42	2680	250	75	65	75	300	200
3	127*63	8060	550	250	120	220	750	600

Outdoor Banqueting Venues:

Venues	Banquet Style		
	Floating	Sit-down	
Grand Bay Terrace	800	350	
Poolside	1000	400	
Ocean Terrace	150	75	
Upper Deck	65	30	
Water's Edge (Bay II)		44	
Water's Edge (Bay III)	25	15	

Water's Edge (Bay IV)	40	20
Water's Edge (Bay II, III & IV)	125	60
Convention Centre Lawn	700	300